F1EHER =7 BFOE
2942 A 23H (K)
X T I4=NRINTHST

JE 4L EF4 H#T4F |OUT| IN [TOTAL

1 /@B &— WEH 38 37 75
2 %R AE MR 42 37 79
3 FEE IEAT =517l 39 40 79
4 8B BIE MR 41 40 81
5 BH #x etigii] 41 40 81
6 Fsr8 X WFM 43 39 82
77 IER ARM 41 43 84
8 IR BX BHH 40 44 84
9 /NE &3k W AT 40 44 84
10 &£k FB /N =] 4 M 85
11 K& B mR™ 41 44 85
12 /MG 54 ™ 37 48 85
13HH & =Nl 43 43 86
14 %%k B FEM 43 43 86
15 BBk E& et 42 44 86
16 £ & mlR™ 47 41 88
17 Bd JE— ™ 45 43 88
18 #JFE ER ™ 44 44 88
19t Sl e 42 46 88
20 #5 K EA Ml 42 46 88
21 FE £ fatE™ 47 42 89
22 7B IE{E NN ] 47 42 89
23 INFE A evigisl 46 43 89
24 % X{& FER 43 46 89
25 211 2 BEEHT 42 47 89
26 EH R INTFHKTH 47 43 90
27808 Z= et 44 46 90
28 HE %HE =ikl 44 46 90
29 B FlXx o™ 41 49 90
30 BR i fafE™ 48 43 91
31 {kfE F1T MR 48 43 91
2 @B B2 FHH 47 44 91
BER EE e 25 o] 47 44 91
34 R BEk ka™ 43 48 91
3B E INE R 50 42 92
6HE FZ fafE™ 49 45 94
36 B %A FEH 49 45 94
37 ¥ =={# FEH 48 46 94
39 =1 KRB INTFRH 50 45 95
40 BEE B WEH 46 49 95
41 71 BHME XRET 47 49 96
42 BE FIFH ka™ 46 50 96
43 F AR KR 50 47 97
44 INFG RS ke 49 49 98
45 /M1 FNE FEH 55 44 99
46 ;158 SERf EiEM 49 50 99
47 mix EE et ] 48 52 100
48 5H T izl 48 56 104
49 JtiR BA EiEH 51 55 106
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e st R BT 0 0 0
RE BB RE  WFM
RE AR & hR
RE KRS & BT
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